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(1) #FEUNEE
1 ERBEERE 45,000 20,000 25,000
2 BEEEER®E 154,000 100,000 54,000
3 ZEfHBIE 2,520,000 2,520,000 0
4 FANEE
HUXA 1,000 1,000 0
BEINEEt O 2,720,000 2,641,000 79,000
(2)REEHR

EXE
3=E:0| 1,140,000 1,140,000 0
HBHFH 1,765,860 1,765,860 0
HFE 304,000 302,000 2,000
R 10,000 10,000 0
REXEE 8,000 8,000 0
BEEWRE 178,000 169,000 9,000
HEMSRERE 95,000 95,000 0
FIRI S A E 142,000 142,000 0
HbE 0 0 0
FEH 95,000 95,000 0
FitH 1,096,000 1,163,000 A 67,000
HE 1,000 0 1,000
BXES @) 4,834,860 4,889,860 A 55,000

EHE
3=E:0| 60,000 60,000 0
HBHFLY 92,940 92,940 0
#EE 16,000 16,000 0
REXEE 152,000 152,000 0
BEERE 10,000 9,000 1,000
HEMSRERE 5,000 5,000 0
RIS AE 8,000 8,000 0
FHH 5,000 5,000 0
FitH 58,000 61,000 A 3,000
HE 1,000 1,000 0
EEE ® 407,940 409,940 A 2,000
BREER @ 5,242,800 5,299,800 A 57,000
LERREIEREE ® A 2,522,800 A 2,658,800 136,000
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2- BEIMEBDOE
LEARRE N EREE (@) 0 0 0
L 2 — A% IE Bk BA R 1R 2B (b) A 2,522,800 A 2,658,800 136,000
— R EREAERE RS (c) 1,219,014 1,372,616 A 153,602
— R ERBAEERA RS (d) A 1,303,786 A 1,286,184 A 17,602
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1 ZWETE

ZWMFFE (e) 4,500,000 4,500,000 0
2 EARMEERE

EABEZIRFA (f) 45,000 20,000 25,000
3 BEEBEERE

HEEEERLE &) 154,000 100,000 54,000
4 —HRERRBAEANDIRES (h) 199,000 120,000 79,000
5 YEEEINAIA

#HEEHEINA 0] 15,000,000 15,000,000 0

REEERUTHESIE () 15,000,000 15,000,000 0
6 BHEZERSXH

BEREEEXH (k) 40,920,000 40,320,000 600,000

BRESBITHEEIIH O 0 0 0
L BAYE TF IF Bk B EE 1R 58 (m) A 6,420,000 A 5,820,000 A 600,000
EEEKRMEDREERS (n) 413,298,475 405,119,475 8,179,000
IEEERMENRES (o) 406,878,475 399,299,475 7,579,000

Il IERREBAEEIRES (p) 405,574,689 398,013,291 7,561,398




